

SIGNATURE PAGE

RFQ# F-80-2024

To the Board of County Commissioners of the County of Monmouth:

**THE UNDERSIGNED HEREBY DECLARES THAT
I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS.
I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE
WITH YOUR REQUIREMENTS.**

Company Name: Action uniform Co. LLC
(PRINT)

Preparer's Name: RICK Zelig
(PRINT)

Signature: [Handwritten Signature] 6/28/24
(DATE)

Address: 1500 S. NEW ROAD
PLEASANTVILLE NJ 08232

Telephone No.: 609 573 5462

Fax No.: 609 568 6054

E-Mail Address: RICK@actionuniformco.com

*****(This should be the email where Contracts would be sent)*****

Contact Person: RICK Zelig

FEIN: _____
(Federal Employee ID)

(Revised 9/2015)

REQUEST FOR BID

----- This Is Not An Order -----



Monmouth County Purchasing

Hall of Records, 3rd Floor

1 East Main Street

Freehold, NJ 07728

(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
732-431-7370 x7381

**FURNISH AND DELIVER BREAST AND HAT BADGES FOR THE MONMOUTH COUNTY
CORRECTIONAL INSTITUTION**

RFB must be received no later than: July 10, 2024 10:30AM

For Delivery to: Sheriff's Office - Correctional Institution, P.O. Box 5007
1 Waterworks Road, Freehold, NJ 07728

Delivery Date: ASAP

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
1	#BLA1727HI - BLACKINTON 1727 SIX POINT STAR BREAST BADGE "WARDEN" COLOR: GOLD FINISH TYPE: HI-GLO ENAMEL TYPE: HARD STRIKE SOLID: YES ATTACHMENT TYPE: SAFETY CATCH FONT TYPE: ROMAN FONT COLOR: BLUE ENGRAVEMENT: TOP LINE: "WARDEN" CENTER SEAL: NJ STATE (A7999) MIDDLE LINE (2 LINES BELOW SEAL): - "MONMOUTH COUNTY" - "SHERIFF'S OFFICE" BOTTOM LINE: "NJ" Packaging: <u>sealed</u> MFG/Brand: <u>Blackington</u> Product No: <u>BLA 1727HI</u> Variances, if any: _____	1 EACH	140	140



REQUEST FOR BID

---- This Is Not An Order ----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER BREAST AND HAT BADGES FOR THE MONMOUTH COUNTY
 CORRECTIONAL INSTITUTION**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
2	#BLA1727HI - BLACKINTON 1727 SIX POINT STAR BREAST BADGE "CAPTAIN" FINISH TYPE: HI-GLO ENAMEL TYPE: HARD STRIKE SOLID: YES ATTACHMENT TYPE: SAFETY CATCH FONT TYPE: ROMAN FONT COLOR: BLUE ENGRAVEMENT: TOP LINE: "CAPTAIN" CENTER SEAL: NJ STATE (A7999) MIDDLE LINE (2 LINES BELOW SEAL): - "MONMOUTH COUNTY" - "SHERIFF'S OFFICE" BOTTOM LINE: "NJ" Packaging: <u>sealed</u> MFG/Brand: <u>Blackington</u> Product No: <u>BLA1727 HI</u> Variances, if any: _____	3 EACH	140	420
3	#BLA1727HI - BLACKINTON 1727 SIX POINT STAR BREAST BADGE "LIEUTENANT" COLOR: GOLD FINISH TYPE: HI-GLO ENAMEL TYPE: HARD STRIKE SOLID: YES ATTACHMENT TYPE: SAFETY CATCH FONT TYPE: ROMAN FONT COLOR: BLUE ENGRAVEMENT: TOP LINE: "LIEUTENANT" CENTER SEAL: NJ STATE (A7999) MIDDLE LINE (2 LINES BELOW SEAL): - "MONMOUTH COUNTY" - "SHERIFF'S OFFICE" BOTTOM LINE: "NJ" Packaging: <u>sealed</u> MFG/Brand: <u>Blackington</u> Product No: <u>BLA1727 HI</u> Variances, if any: _____	10 EACH	140	1400



REQUEST FOR BID

---- This Is Not An Order ----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER BREAST AND HAT BADGES FOR THE MONMOUTH COUNTY
 CORRECTIONAL INSTITUTION**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
4	#BLA1727HI - BLACKINTON 1727 SIX POINT STAR BREAST BADGE "SARGEANT" COLOR: GOLD FINISH TYPE: HI-GLO ENAMEL TYPE: HARD STRIKE SOLID: YES ATTACHMENT TYPE: SAFETY CATCH FONT TYPE: ROMAN FONT COLOR: BLUE ENGRAVEMENT: TOP LINE: "SARGEANT" CENTER SEAL: NJ STATE (A7999) MIDDLE LINE (2 LINES BELOW SEAL): - "MONMOUTH COUNTY" - "SHERIFF'S OFFICE" BOTTOM LINE: "NJ" Packaging: <u>Sealed</u> MFG/Brand: <u>Blackington</u> Product No: <u>BIA 727</u> Variances, if any: _____	20 EACH	115	2,300
5	#BLA1727HI - BLACKINTON 1727 SIX POINT STAR BREAST BADGE "INVESTIGATOR" COLOR: GOLD FINISH TYPE: HI-GLO ENAMEL TYPE: HARD STRIKE SOLID: YES ATTACHMENT TYPE: SAFETY CATCH FONT TYPE: ROMAN FONT COLOR: BLUE ENGRAVEMENT: TOP LINE: "INVESTIGATOR" CENTER SEAL: NJ STATE (A7999) MIDDLE LINE (2 LINES BELOW SEAL): - "MONMOUTH COUNTY" - "SHERIFF'S OFFICE" BOTTOM LINE: "NJ"	2 EACH	120	240



REQUEST FOR BID

----- This Is Not An Order -----

Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER BREAST AND HAT BADGES FOR THE MONMOUTH COUNTY
 CORRECTIONAL INSTITUTION**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: <u>sealed</u> MFG/Brand: <u>Blackinton</u> Product No: <u>BIA72-H</u> Variances, if any: _____			
6	#BLA1727HI - BLACKINTON 1727 SIX POINT STAR BREAST BADGE "OFFICER" COLOR: GOLD FINISH TYPE: HI-GLO ENAMEL TYPE: HARD STRIKE SOLID: YES ATTACHMENT TYPE: SAFETY CATCH FONT TYPE: ROMAN FONT COLOR: BLUE ENGRAVEMENT: TOP LINE: "OFFICER" CENTER SEAL: NJ STATE (A7999) MIDDLE LINE (2 LINES BELOW SEAL): - "MONMOUTH COUNTY" - "SHERIFF'S OFFICE" BOTTOM LINE: "NJ" Packaging: <u>sealed</u> MFG/Brand: <u>Blackinton</u> Product No: <u>BIA729 Hi</u> Variances, if any: _____	266 EACH	105	27,930
7	#BLAB720 - BLACKINTON B720 HAT BADGE "WARDEN" COLOR: GOLD FINISH TYPE: HI-GLO ENAMEL TYPE: HARD STRIKE SOLID: YES ATTACHMENT TYPE: SCREW BACK FONT TYPE: ROMAN FONT COLOR: BLUE ENGRAVEMENT: TOP LINE: "WARDEN" CENTER SEAL: NJ STATE (A7999) BOTTOM LINE (2): - "MONMOUTH COUNTY" - "SHERIFF'S OFFICE"	1 EACH	120	120



REQUEST FOR BID

---- This Is Not An Order ----

Monmouth County Purchasing

Hall of Records, 3rd Floor

1 East Main Street

Freehold, NJ 07728

(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
732-431-7370 x7381

FURNISH AND DELIVER BREAST AND HAT BADGES FOR THE MONMOUTH COUNTY CORRECTIONAL INSTITUTION

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: <u>boxed</u> MFG/Brand: <u>Blackinton</u> Product No: <u>BLB720</u> Variances, if any: _____			
8	#BLAB720 - BLACKINTON B720 HAT BADGE "CAPTAIN" COLOR: GOLD FINISH TYPE: HI-GLO ENAMEL TYPE: HARD STRIKE SOLID: YES ATTACHMENT TYPE: SCREW BACK FONT TYPE: ROMAN FONT COLOR: BLUE ENGRAVEMENT: TOP LINE: "CAPTAIN" CENTER SEAL: NJ STATE (A7999) BOTTOM LINE (2): - "MONMOUTH COUNTY" - "SHERIFF'S OFFICE" Packaging: <u>boxed</u> MFG/Brand: <u>Blackinton</u> Product No: <u>BLAB720</u> Variances, if any: _____	3 EACH	128	384
9	#BLAB720 - BLACKINTON B720 HAT BADGE "LIEUTENANT" COLOR: GOLD FINISH TYPE: HI-GLO ENAMEL TYPE: HARD STRIKE SOLID: YES ATTACHMENT: SCREW BACK FONT TYPE: ROMAN FONT COLOR: BLUE ENGRAVEMENT: TOP LINE: "LIEUTENANT" CENTER SEAL: NJ STATE (A7999) BOTTOM LINE (2) - "MONMOUTH COUNTY" - "SHERIFF'S OFFICE"	10 EACH	128	1280

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing
 Hall of Records, 3rd Floor
 1 East Main Street
 Freehold, NJ 07728
 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
 732-431-7370 x7381

**FURNISH AND DELIVER BREAST AND HAT BADGES FOR THE MONMOUTH COUNTY
 CORRECTIONAL INSTITUTION**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: <u>sealed</u> MFG/Brand: <u>Blackinton</u> Product No: <u>BLAB 720 B720</u> Variances, if any: _____			
10	#BLAB720 - BLACKINTON B720 HAT BADGE "SARGEANT" COLOR: GOLD FINISH TYPE: HI-GLO ENAMEL TYPE: HARD STRIKE SOLID: YES ATTACHMENT: SCREW BACK FONT TYPE: ROMAN FONT COLOR: BLUE ENGRAVEMENT: TOP LINE: "SARGEANT" CENTER SEAL: NJ STATE (A7999) BOTTOM LINE (2): - "MONMOUTH COUNTY" - "SHERIFF'S OFFICE" Packaging: _____ MFG/Brand: _____ Product No: _____ Variances, if any: _____	20 EACH		
			128	2560
11	#BLAB720 - BLACKINTON B720 HAT BADGE "OFFICER" COLOR: GOLD FINISH TYPE: HI-GLO ENAMEL TYPE: HARD STRIKE SOLID: YES ATTACHMENT: SCREW BACK FONT TYPE: ROMAN FONT COLOR: BLUE ENGRAVEMENT: TOP LINE: "OFFICER" CENTER SEAL: NJ STATE (A7999) BOTTOM LINE (2): - "MONMOUTH COUNTY" - "SHERIFF'S OFFICE"	266 EACH		
			128	34,048

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-80-2024

Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Giezey
732-431-7370 x7381

**FURNISH AND DELIVER BREAST AND HAT BADGES FOR THE MONMOUTH COUNTY
CORRECTIONAL INSTITUTION**

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: <u>sealed</u>			
	MFG/Brand: <u>Blackington</u>			
	Product No: <u>BIAB 72A</u>			
	Variances, if any: _____			

TOTAL:

ALL INQUIRIES MUST BE SUBMITTED IN WRITING TO:
FORMALBIDQUESTIONS@CO.MONMOUTH.NJ.US